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Note:	 The question paper is divided into three sections A, B and 
C. Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ-nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| H$m CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. Answer of each question should be 
given in 30 words. Each question carries 02 marks.

					     IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& àË¶oH$ àíZ H$m CÎma 30 eãXm| ‘| 
Xr{OE& àË¶oH$ àíZ 02 A§H$m| H$m h¡&

1)	 Give the answer of the following questions:
	 {ZåZ àíZm| Ho$ CÎma Xr{OE&
	 (i)	 Define stationary inflectional point.
		  pñWa BÝâbo³eZ Ho$ {~ÝXþ H$mo n[a^m{fV H$s{OE&
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	 (ii)	 What do you mean by Idempotent matrix?
		  AmBS>o‘nmoQ>oÝQ> ‘¡{Q´>³g go Amn ³¶m g‘PVo h¡?

	 (iii)	 Define linear programming.
		  a¡{IH$ àmoJ«mq‘J H$mo n[a^m{fV H$s{OE&

	 (iv)	 Define variance.
		  àgaU H$mo n[a^m{fV H$s{OE&

	 (v)	 Define Regression.
		  àVrnJ‘Z H$mo n[a^m{fV H$s{OE&

	 (vi)	 What do you mean by level of significance?
		  gmW©H$Vm ñVa go Amn ³¶m g‘PVo h¡?

	 (vii)	 Define sample.
		  à{VXe© H$mo n[a^m{fV H$s{OE&

	 (viii)	Explain least square method.
		  Ý¶yZV‘ dJ© ar{V H$mo g‘PmBE&

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Attempt any four questions. Answer each question should 
be given in 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýhr Mma àíZm| Ho$ CÎma Xr{OE& àË¶oH$ àíZ H$m CÎma 200 eãXm| 
‘| Xr{OE& àË¶oH$ àíZ 8 A§H$ H$m h¡&
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2)	 Differentiate the following functions with respect to x.
	 x  Ho$ gÝX^© ‘| {ZåZ{b{IV H$bZm| H$m AdH$bZ H$s{OE&
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3)	 Solve the above system of equations by Crammer’s rule.
	 {ZåZ g‘rH$aUm| H$mo H«o$‘a Ho$ {Z¶‘ go hb H$s{OE&
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5)	 What are the essentials of an ideal average? How far the 
geometric mean satisfies them?

	 EH$ AmXe© ‘mÜ¶ H$s ³¶m {deoVmE± h¡? JwUmoÎma ‘mÜ¶ CÝh| H$hm VH$ nyam 
H$aVm h¡?  

6)	 Write a short note on dispersion.
	 An{H$aU na EH$ g§{jßV {Q>ßnUr {b{IE&
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7)	 Calculate coefficient of correlation between density of 
population and death rate from the following data.

	 {ZåZ g‘§H$mo go OZg§»¶m KZËd VWm ‘¥Ë¶w-Xa Ho$ ‘Ü¶ gh-gå~Y 
JwUm§H$ kmV H$s{OE&

Region
joÌ

Area (Sq. kms)
joÌ’$b (dJ© {H$.‘r.)

Population
OZg§»¶m

No. of Deaths
‘¥Ë¶w g§»¶m

A 80 20,000 280
B 120 72,000 1080
C 150 75,000 1200
D 200 40,000 480

8)	 Write a short note on Indian population census. 
	 ^maVr¶ OZJUZm na g§{jßV {Q>ßnUr {b{IE& 

9)	 The two regression lines are 15 16 105y x= -  and x y5 3 75= +  
then find out

	 (i)	 Mean value of X and Y.
	 (ii)	 yσ  if 3xσ =

	 (iii)	 Coefficient of correlation xyγ

	 (iv)	 Both Regression coefficients
	 (v)	 Value of y if x = 15.
	 Xmo àVrnJ‘Z aoImE± {ZåZdV² h¡ 15 16 105y x= -  VWm x y5 3 75= +   

hmo Vmo kmV H$s{OE& 
	 (i)	 X VWm Y Ho$ ‘Ü¶ ‘yë¶
	 (ii)	 yσ  ¶{X 3xσ =  hmo
	 (iii)	 x VWm y Ho$ ‘Ü¶ gh-gå~Y JwUm§H$ ( xyγ )
	 (iv)	 XmoZm| àVrnJ‘Z JwUm§H$
	 (v)	 ¶{X x = 15 hmo Vmo y  H$m ‘mZ kmV H$s{OE&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Attempt any two questions. Answer each question should 
be given in 500 words. Each question carries 16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e :	 {H$Ýhr§ Xmo àíZm| Ho$ CÎma Xr{OE& àË¶oH$ àíZ H$m CÎma 500 eãXm| ‘| 
Xr{OE& àË¶oH$ àíZ 16 A§H$ H$m h¡&

 

10)	 What is sampling? Critically examine the well known methods 
of probability sampling and non-probability sampling.

	 à{VM¶Z ³¶m h¡? àm{¶H$Vm à{VM¶Z Am¡a J¡a àm{¶H$Vm à{VM¶Z H$s 

gwà{gÕ ar{V¶m| H$s {ddoMZmË‘H$ g‘rjm H$s{OE&

11)	 From the following data, calculate standard deviation and its 
coefficient.

	 {ZåZ Am±H$‹S>m| go à‘mn {dMbZ Am¡a CgH$m JwUm§H$ kmV H$s{OE&

Age (less than)
Am¶w (go H$‘)

10 20 30 40 50 60 70 80

No. of persons
ì¶p³V¶m| H$s g§»¶m

15 30 53 75 100 110 115 125

12)	 Enumerate the general short comings of Indian statistics. What 
are the difficulties in the way of collection of statistics in India? 
Give suggestions for improvement.

	 ^maV ‘| g‘§H$mo§ Ho$ gm‘mÝ¶ Xmof ~VmBE±& ¶hm± g‘§H$mo Ho$ g§H$bZ ‘| ³¶m 
H${R>ZmB¶m± h¢? gwYma Ho$ {bE gwPmd Xr{OE&
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13)	 (i)	 Why Fisher’s index number is called ideal index number?
		  {’$ea Ho$ gyMH$m§H$ H$mo AmXe© gyMH$m§H$ ³¶m| H$hVo h¢?

	 (ii)	 Construct Fisher’s index number from the following data.
		  {ZåZ g‘§H$m| H$s ghm¶Vm go {’$ea Ho$ gyMH$m§H$ H$mo kmV H$s{OE&

Items
dñVw

Base year
AmYma df©

Current year
Mmby df©

Price
H$s‘V

Quantity
‘mÌm

Price
H$s‘V

Quantity
‘mÌm

A 02 20 05 15
B 03 08 06 07
C 01 10 02 12
D 05 05 10 06
E 04 04 08 05


